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	Effective compromise

SS 3a. I.2
	Compromise meets the needs of Native Americans, pioneers, and settlers.
	Compromise only meets the needs of 2 of the groups.
	Compromise only meets the needs of 1 of the groups.
	Compromise doesn’t meet the needs of any of the groups.

	Presentation

CCSS.ELA SL.4.4
	Speaks clearly and maintains eye contact at least 75% of the time.
	Speaks clearly and maintains eye contact at least 50% of the time.
	Speaks clearly and maintains eye contact at least 25% of the time.
	Speaks clearly and maintains eye contact less than 25% of the time.

	Visual

CCSS.ELA SL.4.5
	Has an interactive visual that supports the presentation (i.e. slide show, video, interactive graphic, etc.)
	Has a static visual that supports the presentation i.e. a picture, diagram, graphic, etc.).
	Has a visual, but that visual does not support the presentation.
	No visual is included.

	Convincing argument

CCSS.ELA W.4.9
	The compromise is supported with at least 3 valid and factual reasons.
	The compromise is supported with at least 2 valid and factual reasons.
	The compromise is supported with at least 1 valid and factual reason.
	The compromise is not supported with valid and factual reasons.
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